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11) {dH$mg H$m ©̀H«$‘ , EMS>rAm¶ d EgS>rOr -  ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V

{dH$mg H$m ©̀H«$‘, EMS>rAm¶ d EgS>rOr
1) Imbrb OmoS>çm Owidm.

A - emídV {dH$mgmMr Ü¶o¶o ~ - g§~§YrV AgUmè¶m ~m~r
A) emídV {dH$mgmMo Ü¶o¶ H«$. 10 1) hdm‘mZ {H«$¶m
~) emídV {dH$mgmMo Ü¶o¶ H«$. 13 2) O{‘Zrdarb OrdZ
H$) emídV {dH$mgmMo Ü¶o¶ H«$. 14 3) Ag‘mZVm H$‘r H$aUo
S>) emídV {dH$mgmMo Ü¶o¶ H«$. 15 4) nmÊ¶mImbrb OrdZ

5) XmarÐç {Z‘w©bZ
n¶m©¶r CÎmao …
1) A - 1, ~ - 2, H$ - 3, S> - 4 2) A - 2, ~ - 3, H$ - 5, S> - 4
3) A - 5, ~ - 2, H$ - 4, S> - 1 4) A - 3, ~ - 1, H$ - 4, S> - 2

1) Match the following list.

A — Sustainable Development Goals B — Related items

a) Sustainable Development Goal 10 1) Climate action

b) Sustainable Development Goal 13 2) Life on land

c) Sustainable Development Goal 14 3) Reduce inequalities

d) Sustainable Development Goal 15 4) Life below water

5) Poverty alleviation

Answer options :

1) a — 1, b — 2, c — 3, d — 4 2) a — 2, b — 3, c — 5, d — 4

3) a — 5, b — 2, c — 4, d — 1 4) a — 3, b — 1, c — 4, d — 2

2) emídV {dH$mg Ü ò̀  (SDG) - bú` 3.1 Zwgma, 2030 n ª̀V JmR>bo OmUmao ‘mVm‘¥Ë ỳ à‘mUmMo C{Ôï> à{V 1,00,000
{Od§V OÝ‘m§‘mJo ........... Amho.
1) 150 nojm H$‘r 2) 100 nojm H$‘r 3) 70 nojm H$‘r 4) 50 nojm H$‘r

2) The  target of maternl mortality ratio, to be achieved by 2030, as per Sustainable Development

Goal (SDG) - Target 3.1, is ........... per 1,00,000 live births.

1) Less than 150 2) Less than 100 3) Less than 70 4) Less than 50

3) 2015 ‘Ü ò g§̀ wº$ amï´>m§Zr bmoH$, J«h Am{U g‘¥ÕrgmR>r {H$Vr emídV {dH$mg bú ò (SDGs) ñdrH$mabr AmhoV?
1) 15 2) 16 3) 17 4) 18

3) How many Sustainable Development Goals (SDGs) are adopted by United Nations in 2015 for

its agenda of action for people, planet and prosperity ?

1) 15 2) 16 3) 17 4) 18

4) H$moUVm SDG gd© d`moJQ>mVrb gdmªgmR>r Amamo½`Xm`r OrdZ gw{ZpíMV H$aÊ`mgmR>r Am{U H$ë`mUmgmR>r àmoËgmhZ XoVo?
1) 2 2) 3 3) 6 4) 9

4) Which SDG deals to ensure health lives and promote well-being for all at all ages ?

1) 2 2) 3 3) 6 4) 9

5) ‘mZdr OrdZ‘mZmMr VwbZm doJdoJù`m Xoem§‘Yrb Ûmao Ho$br OmD$ eH$Vo
1) DALY 2) HDI 3) PQLI 4) HPI

5) Human Living Standards can be compared in different countries by

1) DALY 2) HDI 3) PQLI 4) HPI
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6) 'emídV {dH$mgmMr Ü¶o¶o - 2015' ‘Ü¶o Imbrb joÌm§Mm g‘mdoe hmoVmo.
A) gd© ñdê$nmVrb gmd©{ÌH$ Xm[aÐç Xÿa H$aUo. ~) ’$º$ O{‘ZrdaMo OrdZ g‘¥Õ H$aUo.
H$) qbJ g‘^md {Z‘m©U H$aUo. S>) Ü¶o¶mgmR>r ^mJrXmar H$aUo.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) A, ~, H$ Am{U S> 2) ~, H$ Am{U S> 3) A, ~ Am{U S> 4) A, H$ Am{U S>

6) ‘Sustainable Development Aims —2015’ includes the following areas

a) Eradication of universal poverty in all sector b) Enriching life on land only

c) Creating gender equality d) Partnering for a goal

Which of the above sentences are correct ?

1) a, b, c and d 2) b, c and d 3) a, b and d 4) a, c and d

7) gm‘m{OH$ {dH$mg ............ gy{MV H$aVmo.
A) ‘mZdmMo H$ë¶mU ~) GNP ‘Ü¶o dmT
H$) gm‘m{OH$ g§KQ>ZoV gwYmaUm S>) gm‘m{OH$ Ý¶m¶
n¶m©¶r CÎmao : >
1) A, H$ d S> 2) A, ~ d H$ 3) A, ~ d S> 4) ~, H$ d S>

7) The social development implies

a) Welfare of human being b) Rise in GNP

c) Improvement in social organisation d) Social justice

Answer Options :

1) a, c and d 2) a, b and c 3) a, b and d 4) b, c and d

8) ^m¡{VH$ JwUdÎmm {ZX}em§H$ (PQLI) ‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) gmjaVm 2) ~mb‘¥Ë ỳ Xa
3) EH$ d`mMo Am ẁ‘m©Z 4) XaS>moB© GDP

8) Physical Quality of life Index (PQLI) include all except

1) Literacy 2) Infant mortality rate

3) Life expectancy at age one 4) GDP per capita

9) WHO Zwgma amhUr‘mZmÀ`m ‘mZH$m§‘Ü ò dJiVm gd© g‘m{dï> AmhoV
1) ñdÀN>Vm Am{U nmofU 2) CËnÞ Am{U ì`dgm`
3) Amamo½`mÀ`m VaVwXrMr nmVir 4) ‘mZdr h¸$

9) Standard of living as per WHO includes all except

1) Sanitation and nutrition 2) Income and occupation

3) Level of provision of health 4) Human Rights

10) ‘mZdr {dH$mg hr cmoH$m§À¶m {ZdS>r {dñVmaUmar à{H«$¶m AgyZ, Ë¶mV nwT>rc ~m~tMm g‘mdoe hmoVmo :
a) XrK©H$mcrZ Am{U {ZamoJr Am¶wî¶ b)  {ejU
c) amhUr‘mZmMm CÎm‘ XOm© d) Xm[aÐçmV cjUr¶ KQ>
n¶m©¶r CÎmao :
1) ’$º$ (a)  Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b) Am{U (c) 4) darc gd©
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10) Human Development is a process of enlarging people’s choices. It includes the following things:

a) Long and healthy life b) Education

c) Decent standard of living d) Substantial Reduction in poverty

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a), (b) and (c) 4) All of the above

11) ‘mZdr {dH$mg {ZX}em§H$m‘Ü¶o ~hþAm¶m‘r Xm[aÚ« {ZX}em§H$mMo ..............., .............., ..........., VrZ Am¶m‘
à{Vq~{~V hmoVmV.
A) Amamo½¶ ~) CËnÞ H$) {ejU S>) amhUr‘mZ
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) A, ~ Am{U S>

11) Multidimensional poverty index has three dimensions mirroring in the Human Development index.

a) Health b) Income c) Education d) Living standards

Answer Options :

1) a, b and c 3) a, c and d 2) b, c and d 4) a, b and d

12) UNDP’s  Mm AmXoe Amho:
A) hdm‘mZ ~XbmMo ‘yë`m§H$Z
~) J[a~rer bT>m
H$) ‘mZdr H$ë`mU, n`m©daU g§dY©Z Am{U g‘mZVm
S>) n`m©daUmg AZwHy$b YmoaUo Am{U nÕVr bmJy H$aUo
n¶m©¶r CÎmao …
1) (A) Am{U (~) 2) ’$º$ (~) 3) (H$) Am{U (S>) 4) ’$º$ (S>)

12) UNDP’s mandate is :

a) the assessment of climate change

b) to fight poverty

c) human well-being, environmental conservation and equity

d) implementing environmentally sound policies and practices

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

13) Am{W©H$ {dH$mgmV Amamo½`mÀ`m ŷ{‘Ho$Mo {díbofU Imbrb dm{hZrÛmao Ho$bo Amho.
1) àË`j l‘ CËnmXH$Vm à^md 2) AàË`j àmoËgmhZ à^md
3) darb XmoÝhr 4) darbn¡H$s Zmhr

13) The role of health in economic development is analysed by the following channel.

1) Direct labour productivity effect 2) Indirect incentive effect

3) Both of the above 4) None of the above

14) Imcrcn¡H$s H$moUVm n¶m©¶ emídV {dH$mgmÀ¶m g§H$ënZoMo dU©Z H$aVmo ?
1) AënH$mcrZ C{Ôï>m§Mr OnUyH$ Z H$aVm AmIcocr XrK©H$mcrZ d¥Õr
2) h[aV d¥Õr
3) ^mdr {nT>çm§À¶m JaOm ^mJ{dÊ¶mÀ¶m j‘Voer VS>OmoS> Z H$aVm dV©‘mZ {nT>rÀ¶m JaOm§Mr nyV©Vm
4)  g‘mZ d¥Õr



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : ^maVr¶ AW©ì¶dñWm / 58

For Private Circulation Only

14) Which of the following describes the concept of sustainable development ?

1) Along-term growth without caring for short-term objectives

2) Green growth

3) Meeting needs of present generation without compromising ability of future generation to

meet their own needs

4) Equitable growth

{dH$mg H$m ©̀H«$‘ -  ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V

1) 2023 ‘Yrc amÁ¶mÀ¶m AW©g§H$ënm‘Ü¶o ‘hmË‘m Omo{Vamd ’w$co OZ Amamo½¶ ¶moOZoV CnMmamMr dm{f©H$ ‘¶m©Xm {H$Vr
aH$‘oZo dmT>{dÊ¶mMo Kmo{fV H$aÊ¶mV Amco Amho ?
A) én¶o 1 cmImdéZ 5 cmI ~) én¶o 1.50 cmImdéZ 5 cmI
H$) én¶o 2 cmImdéZ 4 cmI S>) én¶o 2.50 cmImdéZ 4 cmI
n¶m©¶r CÎmao :
1) ’$º$ H$ Am{U S> ~amo~a 2) ’$º$ ~ ~amo~a
3) ’$º$ S> ~amo~a 4) ’$º$ A, Am{U H$ ~amo~a

1) In the state budget of 2023, the annual limit of treatment in Mahatma Jyotirao Phule Jan Arogya

Yojana has been announced to increase by what amount?

a) 5 lakhs from Rs 1 lakh b) 5 lakhs from Rs 1.50 lakhs

c) 4 lakhs from Rs 2 lakhs d) 4 lakhs from Rs 2.50 lakhs

Answer options :

1) Only C and D are correct 2) Only B is correct

3) Only d is correct 4) Only a, and c are correct

2) JmonrZmW ‘w§S>o eoVH$ar AnKmV gwajm gmZwJ«h AZwXmZ ¶moOZoÀ¶m Am{W©H$ ghmæ¶mH$[aVm cm^mWu H$moUË¶m d¶moJQ>mVrc Agmdm?
1) 18 Vo 58 df© 2) 10 Vo 75 df© 3) 18 Vo 75 df© 4)  21 Vo 58 df©

2) What age should be the beneficiary for the financial assistance of Gopinath Munde Shetkari

Accident Safety Grant Scheme?

1) 18 to 58 years 2) 10 to 75 years 3) 18 to 75 years 4) 21 to 58 years

3) Xm[aÐç aofoImcrc {dYdm ‘{hcocm B§{Xam Jm§Yr amï´>r¶ {Zd¥ÎmrdoVZ ¶moOZo A§VJ©V {Zd¥ÎmrdoVZmMm cm^ {‘iÊ¶mgmR>r
{dYdm ‘{hcoMo d¶ {H$Vr AgUo Amdí¶H$ Amho ?
1){H$‘mZ 18 df© Vo 65 dfm©n¶ªV 2) {H$‘mZ 60 df© Vo 80 dfm©n¶ªV
3) {H$‘mZ 40 df© Vo 79 dfm©n¶ªV 4) {H$‘mZ 65 d Ë¶mdarc gd©

3) What is the age of a widow below the poverty line to get the benefit of pension under the Indira

Gandhi National Pension Scheme?

1) Minimum 18 years to 65 years 2) Minimum 60 years to 80 years

3) Minimum 40 years to 79 years 4) Minimum 65 and all above

4) Ooìhm EImÚm Hw$Qw>§~mMm d§{MVVm JwUm§H$ ......... Q> o̧$ qH$dm Ë¶mnojm A{YH$ AgVmo, Ë¶mdoir Vo Hw$Qw>§~ AZoH$ A§Jm§Zr
(~hþ{‘V) X[aÐr ‘mZbo OmVo.
1) 20.33 2) 50.33 3) 40.33 4) 33.3

4) If deprivation score of a household is  ......... percent or greater, then that household is called

multidimensionally poor.

1) 20.33 2) 50.33 3) 40.33 4) 33.3
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5) {ZamYma ì¶º$s¨Zm ‘XV H$aÊ¶mÀ¶m CÔoemZo 'g§O¶ Jm§Yr {ZamYma AZwXmZ ¶moOZo'A§VJ©V EH$b bm^mWubm Xa‘hm {H$Vr
a¸$‘ {Xbr OmVo?
1) é. 300 2) é. 600 3) é. 900 4) é. 1,200

5) What amount is given to the single beneficiary per month under ‘Sanjay Gandhi Niradhar Anudan

Yojana’, which aims to help the destitute persons?

1) Rs. 300 2) Rs. 600 3) Rs. 900 4) Rs. 1,200

6) gwH$Ý¶m ¶moOZoA§VJ©V ‘{hcm d ~mc{dH$mg {d^mJmÛmao ‘hmamï´> amÁ¶mVrc Xm[aÐç aofoImcr OÝ‘Umè¶m nmÌ ‘wcrÀ¶m Zm§do
OÝ‘V: {H$Vr a¸$‘ ‘wcrÀ¶m OÝ‘mÀ¶m 1 dfm©À¶m AmV Am¶w{d©‘m ‘hm‘§S>imÀ¶m ¶moOZoV Jw§V{dÊ¶mV ¶oVo ?
1) é. 21,200/- 2) é. 22,200/- 3) é. 25,000/- 4) é. 23,000/-

6) Under Sukanya Yojana, how much amount is invested in the life insurance corporation scheme

within 1 year of the girl child's birth in the name of the eligible girl child born below the poverty

line in Maharashtra State by the Department of Women and Child Development?

1) Rs. 21,200/- 2) Rs. 22,200/- 3) Rs. 25,000/- 4) Rs. 23,000/-

7) nÌH$mamÀ¶m H$ë¶mUmgmR>r Imcrcn¡H$s H$moUVm gwdU©‘hmoËgdr nÌH$ma H$ë¶mU {ZYr ñWmnZ H$aÊ¶mV Amcm
Amho ?
1) ‘hmË‘m Omo{Vamd ’w$co 2) AmMm¶© ~miemór Om§^oH$a
3) ñdm‘r e§H$aamd MìhmU 4) ñdJu¶ ¶ed§Vamd MìhmU

7) Which of the following Golden Jubilee Journalists Welfare Fund has been established for the

welfare of journalists?

1) Mahatma Jyotirao Phule 2) Acharya Balshastri Jambhekar

3) Swami Shankarao Chavan 4) Late Yashwantrao Chavan

8) AZwgy{MV OmVr d Zd~m¡Õ KQ>H$m§Vrc Xm[aÐçaofoImcrc ŷ‘r{hZ Hw$Qw>§~mZm O‘rZ CncãY H$éZ XoÊ¶mgmR>r-
Imcrcn¡H$s H$moUVr ¶moOZm amÁ¶mV am~{dÊ¶mV ¶oVo ?
1) S>m°. ~m~mgmho~ Am§~oS>H$a H¥$fr ñdmdc§~Z ¶moOZm
2) H$‘©dra XmXmgmho~ Jm¶H$dmS> g~irH$aU d ñdm^r‘mZ ¶moOZm
3) {~a²gm ‘w§S>m H¥$fr H«$m§Vr ¶moOZm
4) S>m°. n§Om~amd Xoe‘wI O¡{dH$ eoVr ¶moOZm

8) Which of the following scheme is implemented in the state to provide land to landless families

belonging to scheduled castes and neo-Buddhist groups below the poverty line?

1) Dr. Babasaheb Ambedkar Krishi Swalamban Yojana

2) Karmaveer Dadasaheb Gaikwad Empowerment and Swabhiman Yojana

3) Birsa Munda Krishi Kranti Yojana

4) Dr. Punjabrao Deshmukh Organic Farming Scheme

9) Imcrcn¡H$s H$moUVr/H$moUË¶m ¶moOZm ‘{hcm d ~mc{dH$mg {d^mJm‘m’©$V am~{dÊ¶mV ¶oVmV ? CÎmamMm ¶mo½¶ n¶m©¶
{ZdS>m.
A) dZ ñQ>m°n g|Q>a ~) C‚mdcm H$) gwH$Ý¶m g‘¥Õr S>) ñdmYma
n¶m©¶r CÎmao :
1) ’$º$ A d ~ 2) ’$º$ ~, H$ d S> 3) ’$º$ A, ~ d S> 4) ’$º$ A, H$ d S>
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9) Which of the following schemes are/are implemented through the Department of Women and

Child Development? Choose the correct answer option.

A) One stop center B) Ujjwala C) Sukanya Samriddhi D) Swadhar

Answer options :

1) A and B only 2) B, C and D only 3) A, B and D only 4) A, C and D only

10) XrZX¶mc A§Ë¶moX¶ ¶moOZo C{Ôï> Imcrcà‘mUo H$moUVo Amho ?
1) ehar emco¶ nmofU H$m¶©H«$‘
2) J«m‘rU ^maVmMr JaO {dMmamV KoD$Z Cƒ {ejU g§ñWm§‘Ü¶o g§ñWm§Ë‘H$ j‘Vm C^maUo.
3) Jar~m§gmR>r ZmJar gw{dYm§Mr {Z{‘©Vr H$aUo.
4) ñd¶§ghm¶Vm JQ>mÀ¶m ‘mÜ¶‘mVyZ J«m‘rU Jar~m§À¶m geº$ g§ñWm C^maÊ¶mda ^a XoUo.

10) Which of the following is the objective of Deendayal Antyodaya Yojana?

1) Urban School Nutrition Programme

2) Building institutional capacity in higher education institutions considering the needs of rural

India.

3) Creating civic amenities for the poor.

4) Emphasis on building strong institutions of the rural poor through self-help groups.

11) OZZr gwajm `moOZm (JSY) hr .................. àm`mo{OV `moOZm Amho.
1) WHO 2) UNICEF 3) amÁ` gaH$ma 4) H|$Ð gaH$ma

11) Janani Suraksha Yojana (JSY) is .................. sponsored scheme.

1) WHO 2) UNICEF 3) State Govt 4) Central Govt

12) PMJAY `moOZoÀ`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m :
a) hr OJmVrb gdm©V ‘moR>r Amamo½` {d‘m `moOZm Amho, Or nyU©nUo gaH$maÛmao {dÎmnwadR>m Ho$br OmVo.
b) ho H$m¡Qw>§{~H$ AmH$ma, d` qH$dm qbJ `mda {Z~ªYm§gh Amamo½` godm godm§‘Ü ò gd© ZmJ[aH$m§Zm H°$ebog àdoe àXmZ

H$aVo.
c) ho ̂ maVmVrb gmd©O{ZH$ qH$dm ImOJr é½Umb`mV Xwæ`‘ Am{U àmXo{eH$ XoI^mb é½Umb`mV àdoemgmR>r à{V Hw$Qw>§~

à{V df© é. 5 bmI H$ìha àXmZ H$aVo.
d) `m‘Ü ò hm°pñnQ>bm`PoeZnyduÀ`m 3 {Xdgm§n ª̀V Am{U hm°pñnQ>bm`PoeZZ§VaÀ`m 15 {Xdgm§À`m EŠñàog Ogo H$s

{ZXmZ Am{U Am¡fYo g‘m{dï> AmhoV.
darbn¡H$s H$moUVr {dYmZo gË` AmhoV/AmhoV?
1) a Am{U b ’$º$ 2) a, b Am{U c ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$

12) Consider the following statements in context to PMJAY Scheme :

a) It is World's largest Health Insurance Scheme, fully financed by the Government.

b) It provides cashless access to all citizens to health care services with restrictions on family

size, age or gender.

c) It provides cover of Rs.5 lakh per family per year for secondary and tertiary care hospitalisation

access at empanelled public or private hospital in India.

d) It covers upto 3 days of pre hospitalisation and 15 Days post hospitalisation express such as

diagnostics and medicines.

Which of the above statements is/are true ?

1) a and b only 2) a, b and c only 3) b, c and d only 4) a, c and d only
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13) emco¶ nmofU Amhma ¶moOZoer nwT>rcn¡H$s H$moUË¶m ~m~r g§~§{YV AmhoV ?
a) àmW{‘H$ {ejUmMo gmd©{ÌH$aU H$aUo. b) {dÚmÏ¶mªMr nQ>Zm|XUr dmT>{dUo.
c) ‘mo’$V JUdoe dmQ>n H$aUo. d) darc gd©
darcn¡oH$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) (b)  Am{U (c) 3) (a) Am{U (c) 4) ’$º$ (d)

13) ‘Which of the following is related to school mid-day meal programme ?

a) Universalization of primary education b) Increasing student enrolment

c) Distribute free uniforms d) All of the above

Which of the statement(s) given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (a) and (c) 4) Only (d)

14) nwT>rc {dYmZm§Mm {dMma H$am :
{dYmZ (I) : ‘{hcm Am{U ~mcHo$ ¶m§Zm EH$mpË‘H$ cm^ XoÊ¶mgmR>r {‘eZ eº$s ¶moOZm gwé H$aÊ¶mV Amcr.
{dYmZ (II) : 2022-23 ¶m dfm©H$[aVm "{‘eZ dmËgë¶gmR>r" é. 2,472 H$moQ>r BVH$s VaVyX H$aÊ¶mV Amcr.
n¶m©¶r CÎmao :
1) {dYmZo (II) ~amo~a Amho, MyH$ Amho 2) {dYmZ (I)  ~amo~a Amho, (II)  MyH$ Amho.
3) XmoÝhr {dYmZo MyH$ AmhoV 4) XmoÝhr {dYmZo ~amo~a  AmhoV

14) Consider the following statements :

Statement (I) : The Mission Shakti Yojana was launched to provide integrated benefits to women

and children.

Statement (I) : A provision of T 2,472 crore has been made for ‘Mission Vatsalya’ for the year

2022 — 23.

Answer options :

1) Statement (II) is correct, (I) is incorrect 2) Statement (I) is correct, (II) is incorrect

3) Both statements are incorrect 4) Both statements are correct

CÎmao … 11) {dH$mg H$m̀ ©H«$‘ , EMS>rAm¶ d EgS>rOr -  ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ m̀§À m̀ g§X m̂©V

{dH$mg H$m ©̀H«$‘, EMS>rAm¶ d EgS>rOr

1-4 2-3 3-3 4-2 5-2 6-4 7-1 8-4 9-4 10-4
11-3 12-2 13-3 14-3

{dH$mg H$m ©̀H«$‘ -  ‘{hbm, ‘wbo, Á òð> ZmJ[aH$ `m§À`m g§X^m©V

1-2 2-2 3-3 4-4 5-2 6-1 7-3 8-2 9-3 10-4
11-4 12-4 13-1 14-2


